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1. Do NOT open this question book until instructed by the supervisor.
2. Right after you are instructed to start the examination, fill in your program, and

identification number on the answer sheet.
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DTOR1IMSRSIZTDODNWTEZRE,
Answer the question-1 to 5.

8 1. Question-1

REZHEHTIEREZERLELTRYEL, F0OE5E LTEELPREEZD(Y
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Christopher Alexander proposed the planning and design techniques for
creating buildings and environments as a pattern which is the extraction
of the patterns that make up the environmental elements. Select one correct
answer from the following (A) to (E). (4%

(A) ZErEIE=,

B) A2 SHF-
C) 2=N—HILTHFA
D RSO Fv—

() {78 =2l — 3>

(A)Spatial schema

(B)Pattern ltanguage
(G)Universal design

(D) Structure

(E)Human behavior simulation
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B5 2. Question-2
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Select one inappropriate sentence from (A) to (E) as an explanation about
the urban sprawl phenomenon in land use. (4%)

(A HEMAREA T Y FICEEEICHEKRT S &,
B)EBHEDOAONEML TWABEBTELSLHZENZN,
COBETERELTNS,

D) L REREREEHE L TR Shi-Eih,

(E) L#bFiAIRFI T—EOHIBIITRET H S,

(A)Urban sprawl is the uncontrolled expansion of urban areas into
suburban areas.

(B)Urban sprawl| often occurs in the process of urban population growth.

(C)Urban sprawl is also occurring in Japan.

(D) Urban sprawl is a residential area formed through a land readjustment
project.

(E)Certain control of urban sprawl can be achieved through land use
regulations.
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& 3. Question-3
ROXEOHRTELWEDZE—DRUVLEE, (4 4)

Select one correct sentence from (A} to (E). (4%)

(A FERHEEIL, 25 BICBIT5MAKAREICHT HREOERDKERT
EDEETHS,

B) AREEL. REPICEENDIKBEID 1 LA A — MLEEYDT S LE
TERLEEETH S,

OREAEELIT. ERER 1 LA A MLOBEEIIRT HKEIDOEEDL
TH5,

D) AEENELCTE, [REBEMEWNEEERPOERBEDKEREESZL,

(E) tR%IREEAS 100% DEEH, TOERDEBELY LEENMEVEICHN T
LEHBEEEL D,

(M Relative humidity is the ratio of the vapor pressure in the air to
the saturated vapor pressure at 25 degrees.

(B)Relative humidity is the mass of vapor in grams contained in 1
cubic meter air.

(C)Relative humidity is the ratio of the mass of vapor to the mass of
1 cubic meter of dry air

(DYWhen the relative humidity is the same, the lower the temperature,
the higher the amount of vapor in the air.

(E)When air with 100% relative humidity touches a surface that is
colder than the air, condensation occurs
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RH 4. Question—4
EYOCEEBRICEATAELVGEAZTEOXA ~EMS5—DRU0HEW, 4 5)
Select one correct explanation about plants and ecosystems from the

following sentences (A) to (E). (4%)

(A) BRSO HE I — AR 0~-10°COEETH 5,
(B) MR DEREHRD 2/3 E HHDR[AKEBEILIRFETHY . ROTALUTH

Do
O EBEOBFREIX/NSVOTHAFEESNEL . BOEHICETHREHICH
ATHS.

D) ik, LRERPOT I/ BOI NI ZRIRLTERRES L LTV,
E)ono7s LEFEAELFERELCERRL, TOMOKREOESNEZRIN
LAWLWDT, ZOREEE NEOR] EEEN D,

(A) The freezing resistance of tree species of laurel forest is generally
in the range of 0 to =10 °C.

(B) The gas that accounts for two-thirds of the Earth's greenhouse effect
is carbon dioxide, followed by methane.

(C)Since the photo-compensation point of the shade leaf is low due to
the small dark respiration, it is advantageous for photosynthesis in
shade conditions. -

(D)Plants absorb amino acids and proteins in the soil for nitrogen
nutrients.-

(E}Since chlorophyl| absorbs red and blue |ight well and doesn’ t absorb
purple light with the intermediate wavelength, so its wavelength
range is called the “purple window” .
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B3 5. Question-5

Y—hTa 7o) XLMEAY L) ICETILUTOHRBEXOPNS, ELWEH
DEOE1DBRURZE. 4 RA)

Select one correct sentence from (A) to (E) as an explianation about
circadian rhythm. (4%)

MNY—AhT 47X AL, ABOE2# 12 BERERO Y XLDZETHS,
BH—hF4 7Y XLIE, OEIZHEEREIFTT,

OHY—BT 7o) ALIZRLHEZRIZTTERFE. KETH S

DY —HF 4 7Y XLEEZL-DICE,. BHELABHICEZI M4

RHUTHD. '
BE)BFEFE T ORI L PBRER Y —D T 7o UXLEFE2HERDE
LEIRTH B,

(A) Circadian rhythm is a human rhythm with a cycle of about 12 hours.

(B) Circadian rhythm affects blood pressure.

(C) The factor that most influences circadian rhythm is atmospheric
pressure.

(D) It is effective to wake up at different times every morning in order
to adjust the circadian rhythm.

(E) Jet lag and sleep disorders due to night shifts are symptoms that
have nothing to do with circadian rhythm.
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1. Do NOT open this question book until instructed by the supervisor.

2, Right after you are instructed to start the examination, fill in your subject, program, and
identification number on the answer sheet.

3. If examinations are not taken in the designated subject, you will be disqualified.

4. When you use two or more answer sheets, write your subject, program, and identification

number on each sheet.
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